06 11 27
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R02 |R03 [R04 [ROS5 [RO6

A12-001 | B B 64 (2.18
14ha
3.2ha
A12-002 [ [ [ [ [ 593 (2.51
18ha
5.7ha
A12-003 6.0ha [ B BN A B ] 9,152 |3.55
123.7ha
A12-004 0.4ha [ ] 116 [2.04
8.9%ha
A12-005 [ D B B 162 (1.70
lha
5.5ha
A12-006 [ I B 804 |1.81
4ha
4.0ha
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R02 |R03 [R04 [ROS5 [RO6
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4.6ha
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3
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A12-012 [ B BN B B 248 12.51
3.18ha
5.7ha
A12-013 " | = 56 (2.04
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B13-001

B12-002

10

0000614052




RO2 RO3 RO4 RO5
() 1,404 1,064 1,393 1,268
(b) 0 0 0 0
(c=atb) 1,404 1,064 1,393 1,268
(d) 155 332 133 161
e) 1,227 1,263 1,365 1,294
) 332 133 161 135
295 26 0 25
(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 18.92 1.86 0 1.74
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